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@K

Words are an essential part of human life, but they can sometimes hurt people. It is easy]
to take such risks when we speak without thinking carefully. I have experienced such
failures with friends and families many times. I always regretted it afterwards and felt
bad about it. If I’'m not sure whether or not to say something, it's often better to stay|
silent. I feel that the wiser a person is, the less he or she speaks. (79 words)

o

Japanese people tend to prefer silence, but recently we have more and more lessons in
debate and discussion in Japanese schools as in the West. By putting our thoughts into
words and talking about them with others, new ideas are born. Sometimes when I am|
talking with friends or parents, I can make my thoughts clear. I think the first step is
speaking something and communicating with others. I believe in the power of words.

~ |(78 words)

(2)

Some people believe that we are unique because we are born that way. But I believe]
that our experiences make us unique. Events in our life can be difficult, but we have toj
figure out how to overcome them. We become unique people mainly because of how]
we have dealt with the events in our lives. (56 words)
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Based on the interview, I think the followmg things about teaching are interesting.
Flrst, you can work with young people and help them express themselves. Second, it
71 is ex01t1ng to be involved with the students while teaching and contribute to the

students’ personal development.
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As you can see, the most popular school lunch is curry and rice. Over 60 percent of
junior high school students seem to like it! A lot of the popular lunches in the
graph are not healthy. For example, the second most popular food is deep-fried
bread. Also, fried dumplings are popular but not that healthy. However, we do not
have these foods every day, only sometimes. They are delicious and worth trying!
Rice with wakame, which is a kind of seaweed, is popular and healthy. I think that

(1) there might be some foods you will want to avoid, but most school lunches will have
' rice and vegetables and be healthy.

Overall, I think that you should try the school lunch. Most foods are heglthy and
2) the foods that are not healthy are not served too often._ If you do not like the

school lunch, you can always cancel it!
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